HW:  Quiz Review 2.1/2.2 
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Graph the parabola and label the vertex, axis of symmetry and x & y intercepts of the following:   

y = –2x2 – 4x + 6
A) vertex:  
_______________
B) Axis of symmetry: 
_______________

C) x-intercept(s) if any:
_____________________
D) y-intercept:
_______________

2.  Given the function f(x) = –6x4 – 11x3 + 2x2
A) Describe the left hand/right hand behavior of this function.

_________________________________________________

B) Write in complete factored form _________________________________
C) Give all x-intercepts_________________________

D) Give the y intercept___________

3. Given a parabola with vertex (3, 4) that goes through the point (5, –4) find the equation in any form.
4. Given a parabola 
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find 
A) Vertex__________

B) x-intercept(s) if any________________

C) y-intercept_______________

D) Axis of symmetry___________________
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